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Chapter 15 Review Date Period

Chemistry Name

Define the following terms:
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Solve the following problems in the space provided:

I. What mass of strontium chloride is needed to make 255 ml of .470 M solution?
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2. What is the mass percent of a solution if 9.63 grams of ammonium carbonate are dissolved in 238
grams of water?
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3. What volume of 18.0 M sulfuric acid solution is needed to make 785 mL of a solution with a molarity
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4. What volume of 1.25M Pb(NOs3); solution would be required to completely react .843 grams of
magnesium in a single replacement reaction?
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5. What volume of water must be added to 56.9 mL of 8.23 M hydrochloric acid solution in order to bring
its molarity down to .750 M?
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6. What is the molarity of a solution in which 21.2 grams of potassium chloride is dissolved to make 135
ml. of solution?
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7.1£37.8 mL of 4.75 M HCI solution is mixed with 128.1 mL of 1.23 M HCI solution, what is the
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8. How many milliliters of .845 M solution can be made with 24.6 grams of lithium nitrate?
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9. What is the limiting reactant if 58.9 mL of .275 M strontium chloride solution reacts with 44.3 mL of
IHSM silver nitrate’ solutlortm a double replacement reaction? $¢ {y, +2A ;/1/0} —> 3, (/)/QQL r4 5()

275mM= =2 6162alds Selly, | 245¢

L5891 ‘{}5/‘611‘, = ,0‘52‘1%9' 494/
L 3 g
NG M AL [5 A%/VO )245”1 - L0193 s 4 C
LOH4Y3L 7 464/7 \__—sﬁi/
Aoy is | g

10. What volume of 2.50 M sulfuric acid solution can be made by adding water to 34.5 mL of 9.65 M
solution? What volume of water must be added?
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I'1. What mass of nickel Il chloride would you need to add to 1250 ml. of water to make a 7.25%
solution?
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